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1. URFE AU Z (BEA-BHHMH. %)
FE H264EE | H2THEE | H28EE oot | a0t | nate | Hazers

X 5 (B | ER | (R
1. E E 3 I * a 785 727 620 670 668 685 685
I 1 # o4 I A 707 649 538 589 587 603 603
2) € ) fth 78 78 82 81 81 82 82
SbHLitE A BEE 50 49 50 50 50 50 50
2. B ¥ N W # 328 405 481 455 367 334 323
(1) th=tERE-#HbE 246 312 378 327 254 232 227
2 B (& ) 4 B & 4 3 7 7 7 7 7
@ RFMZTEEREA 69 81 83 92 77 66 60
A 4) % ) fth 9 9 13 29 29 29 29
® # IR &= (A 1,113 1,132 1,101 1,125 1,035 1,019 1,008
1. E * & A b 1,107 1,113 1,067 1,114 1,052 1,034 1,019
X\ B # 5 B . 553 553 544 558 561 553 550
(2) # # =1 203 209 189 213 192 192 192
() #¥ =1 238 231 212 219 175 175 175
4 B @ E #H E 101 116 119 120 120 110 98
(k) % ) fth 12 4 3 4 4 4 4
2. E (¥ N & H 43 41 63 83 83 82 80
(1) x h g B 35 32 29 26 26 25 23
wml @ % 2 it 8 9 34 57 57 57 57
£ w = A B) 1,150 1,154 1,130 1,197 1,135 1,116 1,099
# B B & A6 (C) A 37 A 22 A 29 A 72 A 100 A 97 A 91
Tl ®m ®M % (D 0 0 0 0 0 0 0
: 2. % Al #B % ® 34 0 1 0 0 0 0
« | Bl B & O)—@E) (F) A 34 0 Al 0 0 0 0
fali # ity (C)+(F) A 71 A 22 A 30 A T2 A100 A 97 A 91
2 i} x # & (Q) 0 0 0 0 0 0 0
in Ef & E 7 379 337 218 17 17 117 117
i &l = B 251 257 171 202 202 202 202
T > b — B B A £ 0 0 0 0 0 0
%%ﬁ B BR B H RO 0 0 0 0 0 0
?%i’f{iﬂgﬁgﬁogaégm 0 0 0 0 0 0 0
Z5| ?:H)_(i}_{f)_(ﬂj’? @®| A28 A 80 A 47 85 85 85 85
B8 I X i ?&ﬁxmo 96.8 98.1 97.4 94.0 91.2 91.3 91.7
X~ B & % b F2———"— @)« 100 A 163 A 110 A 76 12.7 12.7 12.4 12.4

a

BE ¥ IR X b =E Z X 100 70.9 65.3 58.1 60.1 63.5 66.2 67.2
ng i ﬁ's g J;ﬁl; g : X 100 70.4 76.1 87.7 83.3 84.0 80.7 80.3
,iﬂfjgfffg?f) ,r;;; = (H) A 128 A 80 A 47 85 85 85 85
¥ R F F b3 70.2 59.6 80.0 92.0 90.0 90.0 90.0
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FE H26 [ | H27THEE | H28 &

K 4 = | = | H29%E[E | HI0FE | HI1EFE | HR2EE
1. 1 E 3 & 110 34 8 13 45 23 5
2.t = FH H & = 0 0 0 0 0 0 0
3. 1 = & & #B = 128 100 151 72 130 125 115

Wla # = 5 # A 2 0 0 0 0 0 0 0
5. #h = & # B £ 0 0 0 0 0 0 0
6. B ( & ) # B = 0 5 52 0 0 0 0
7. % ) ftt 0 0 0 0 0 0 0

A I A Ft (a) 238 139 211 85 175 148 120
AIEEHFAECEEERBAD (o 0 0 0 0 0 0 0

fliEt (@) —{b)+(c)} (A) 238 139 211 85 175 148 120
1. 8 & & R & 180 85 143 13 45 23 5

X2 &£ ¥ & E & = 92 97 114 118 130 125 115
3. MEtRABAERES 0 0 0 0 0 0 0

Hl4. % ) fth 0 0 0 0 0 0 0

X H &t (B) 272 182 257 131 175 148 120

= 5 &~ B %8 B—W®A (C) 34 43 46 46 0 0 0
1. Ex I EBRESE 34 43 46 46 0 0 0

*%ﬁz. Al % B R E L D E 0 0 0 0 0 0 0

A3, B B I T B £ 0 0 0 0 0 0 0

Iﬂj 4. * ) fth 0 0 0 0 0 0 0

&t (D) 34 43 46 46 0 0 0

HTAMRT 28 (C)— (D) (E) 0 0 0 0 0 0 0

ig%ggﬂ1ﬁfi1ﬁkxl¢* ) 0 0 0 0 0 0 0

EEMHRFTRE (E)—(F) 0 0 0 0 0 0 0

—RREENCDBEAEDRAEL (432 )

Hf;?; H;?; Héi? H29%EE | HI0FE | HI1EFE | HR2EE

v & B IR K| 262817| 328426 392001, 337,005 263444| 241551 236,855
B X B U | 127569 99608 150582| 71,906| 130,028| 125032 115092
a 5 390,386| 428,034| 542,583| 408911 393472| 366,583| 351,947
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